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Codeforces Round #706 (Div. 1)
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B. Tree Array

gd

OO0 $n$ 00000000000 $1\sim n$[]

goboogobbooboboooobbooobbuooobooobboooboboooobooobobag
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0000000 $(uv)$f0 $p=\text{LCA}(uv)$ OD OO ODDOOOO00OO0ODOO0OODOOOOOOOO
ugd

00000 $u\gtv,d 1=d u-d_p,d 2=d v-d p$00 0 $(uv)$ 000 0000000000000

00000000 $d1d24000000 $t$000000000000O0O0O0 $1-2t$0000000
0¢$d2¢000000000000O0O

0000 $\text{dp}(d_1,d_2)=\cfrac {\text{dp}(d_1-1,d_2)+\text{dp}(d_1,d_2-1)}2¢00 00O OO
D000D0000D000000000 $0(n~3)$0

const int MAXN= ,mod=1e9+7;
int dp/MAXN] MAXN];
int quick pow(int a,int k
int ans=1;
k
k&1 )ans=1LL*ans*a%mod;
a=1LL*a*a%mod;
k>>=1;

ans;

struct Edge
int to,next;
edge [ MAXN<<1];
int head MAXN|,edge cnt;
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void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u|=edge cnt;

vector<int> ch[MAXN];
int dep[MAXN!,ans;
void dfs(int u,int fa
deplul=dep|/fal+1;
chlu].clear();
chlu].push back(u);
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
v==fa ;
dfs(v,u);
_for(j,0,chlul.size
_for(k,0,chlv].size
int x=chlulljl,y=chlv][k];
int dl=dep/max(x,y)|-deplul,d2=dep[min(x,y)|-deplul;
ans=(ans+dp/dl] [d2])%mod;

_for(j,0,chiv].size
chlu].push back(ch[v][j]);

int main

int inv2=quick pow(2,mod-2);
_for(i,1,MAXN)dp i]=1;
_for(i,1,MAXN) for(j,1,MAXN
dpli![j/=1LL*(dpli- jl+dplil[]- *inv2%mod;
int n=read int();
_for(i,1,n
int u=read _int(),v=read int();
Insert(u,v);
Insert(v,u);

_rep(i,1,n
dfs(i,0);
enter(1lLL*ans*quick pow(n,mod-2)%mod) ;

1

C. Converging Array

gd

0000 $a[l\simn]b[I\simn-1]$0 000000000
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OoooooooooO $1\eille n-1$[0 $a_i=\min\left(a_i,\cfrac {a_i+a_{i+1}-
b_i}2\right),a_{i+1}=\max\left(a_i,\cfrac {a_i+a_{i+1}+b_i}2\right)$[]

000000000000 $all\ssimnl$0000000
O00000 $x$00000d0 $all\simn]l$ 000
1. $0\le a_i\le c_i$
2. 00000 $a 1\ge x$

0O

00000000 $fil\simnl$00 00000000000 $\suma_i$00 000 $f {i+1}-f i\ge b_i$[]

O $sa_i=\sum_{j=1}"ia_j,sb 1=0,sb_{i+1}=\sum {k=1}"jb k,ssb i=\sum_{j=1}"i
sb_i,sc_i=\sum_{j=1}"i c_j$0

OoooooOo00 $f 1+4sb 1,f 1+sb_2,f 1+sb_3 \cdots f_1+sb_k,f_{k+1}\cdots$[]00 O $f t\gt
f 1+sb_t(t\gt k)$[]

000 $\sum_{i=1}"kf i+sb_i=\sum _{i=1}"k a_i$00 $\sum_{i=1}"~tf i+sb_i=\sum {i=1}"t
a_i\ge \sum {i=1}"ta i(t\neq k)$

000 $f 1=\min_{i=1}"n\left(\cfrac {sa_i-ssb_i}i\right)$00 0 00 0O $x$00 0 O $x$J0 O $\cfrac
{sa_i-ssb i}i\gex$ OO O DOOODOODO

O $\text{dp}(i,s)$ OO $\sum {j=1}"ia i=s$ 0O O0$m=\max c_isj0 00000 $0(n"2m)$ 00O
oood

000 $\min\left(\cfrac {-ssb_i}i\right)\le f_1\le \min\left(\cfrac {sc_i-ssb_i}i\right)$00 O O
$\max(f_1)-\min f_1\le m$[]

0000 $x$00 $Omsooooooooo $0\eft(n™2m~2\right)$[]
const int MAXN= ,MAXV=1e4+5,mod=1e9+7/,inf=1e9;

int b/MAXN|,c/MAXN|,dp MAXN| [MAXV],ans MAXN!,n;
int solve(int x

mem(dp,0);

dp =1;

_rep(i,1l,n
_for(j,1,MAXV

dpli- jl=(dpli- jl+dpli- j- %smod ;
_for(j,max(x*i+b[i],0),MAXV
j-clil=>
dplillji=(dpli-1][jl-dpl[i-1]1[j-cli]-1]+mod)%mod;

dplil[jl=dpli-1][]];

int ans=0;
_for(i,0,MAXV
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ans=(ans+dp/n![i])%mod;
ans;

int Div(int a,int b
a<
a-b+1)/b;
a/b;
int main
n=read int();

_rep(i,l,n)clil=read int
rep(i,2,n)blil=read int

rep(i,2,n)blil=blil+b[1i-

int lef=inf,rig=inf,s=0;
_rep(i,1,n
s+=c[il;

+b[1-

lef=min(lef,Div(-bli],1));
rig=min(rig,Div(s-bli!,1i));

_rep(i,lef,rig
ans|i-lef|=solve(i);
int g=read int();
q__
int x=read int();

x=min(max(lef,x),rig+

enter(ans|x-lef]);

D. Inverse Inversions

gd

’

’

D000 $1\simn$ 00000 $p is0000O $ISO0000000D0O0O0O0O0O $bsO0 O

$b_i=\sum_{j=1}"i[p_j\gt p_il$0
gooooogo

1. 0000 $b x$

2. 0000 $p x$

gd

0 $P(i,n)=\sum_{j=1}~rlp_j\gt p_il$0$c_i=i-1-b_i$00 0 O $P(i,i)=c_i,P(i,n)=p_i-1$[]
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0000 $PG,r+1)=P(,n+lc_{r+1 e P(i,N1$0
00000000 $cisfjoo0ooo so)sjooonooooonoonoooogn $0(n)s0
00000000000 $B$00000 $[Lirilsi0noonnn $Px,Li) e x\le r i)$[

000000000 $[LRI$SOD DO $P(x,R)(L\le x\le R)$00 O $\text{push up}$ 00 OO OO OO OO
00000 $O(R-L)$[

D000 $bx$ 000000000000 000000000000 $O(B)$]
00000000 $x\in[Liril$0000 $0(B)$ 00000 $P(X,r S0
00000000 $k$00000 $P(xrk$ 0000000000000 $0(\frac nB\log B)$[

DO0D000 $B=0(\sqrt{n\logn})$ 00 0000000000000 $0\eft(q\sqrt{n\log n}\right)$00
0000 $0(n\log n)$Q

const int MAXN=1e5+5,MAXB= ;
int b/MAXN];
struct Tree
int lef[MAXB<<2|,rig|[MAXB<<2|;
vector<int> p[MAXB<<2];
void push up(int k
int posl=0,pos2=0,kl=k<<1l,k2=k<<1|1;
plkl.clear();
_rep(i,leflk],rig/k
posl<p/kl|.size()&&pos2<p/ k2]|.size
p kl]|[posl +pos2<p|k2] pos2
p/kl.push back(p/kl||[posl++|+pos2);

plk].push back(pl[k2][pos2++]);

posl<p/kl]|.size
plkl.push back(plkl][posl++]+p0s2);

plkl.push back(plk2][pos2++]);

void build(int k,int L,int R
lef[kli=L,rig/ k!=R;
int M=L+R>>1;
L==R
plk].push back(b[M]);

’

build(k<<1,L,M);
build(k<<1|1,M+1,R);
push up(k);

void update(int k,int pos
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lef kl==rig/k
plk =b[pos|;

’

int mid=lef|k|+rig/k]|>>1;
pos<=mid
update(k<<l,pos);

update(k<<1|1,pos);

push up(k);
int query(int v
int lef=1,rig=p .size(),ans=0;
lef<=rig
int mid=lef+rig>>1;
v+mid>p mid-
ans=mid;
lef=mid+1;
rig=mid-1;
ans;
tree|MAXB|;
int blk id/MAXN|,lef MAXB|,rig|/MAXB];
int main

int n=read int(),blk sz=sqrt(n*log(n))/2+1,m=n/blk sz;

N%blk sz)m++;
~rep(i,l,n)blil=i-1-read int();
_for(i,0,m

lef[il=i*blk sz+1;

rig/i/=min((i+1)*blk sz,n);

_rep(j,lefiil,riglii

blk id[j|=1i;

treeli].build(1l,lef[i],rigli]);

int g=read_int();
q_-
int opt=read int(),x=read int();
opt==
blx|=x-1-read int();
tree[blk id[x]|.update(1l,x);

int ans=b[x];
_rep(i,x+1,rig[blk id|x
ans>=b|i
ans++;
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_for(i,blk id[x|+1,m
ans+=treelil.query(ans);
enter(ans+1);

00000000000 $0\eft(g\sgrtnlogn\right)$fC 0000 $O(n)$ 00000 OCOCOOODOOOO

const int MAXN=1e5+5;
#define lowbit(x) ((x)&(-x))

int c[MAXN];
void add(int pos,int v
pos<MAXN
clpos|+=v;

pos+=lowbit (pos);

int query(int b
int pos=0,curb=0;
int i=16;i>=0;i--
pos+(1<<i)<MAXN&&cC | pos+(1l<<i) |+(1l<<i)+curb<b
curb+=clpos+(1l<<i) |+(1<<i);
pos+=(1l<<i);

pos+.;

int bIMAXN]|,lef MAXN|,rig/MAXN|,blk id[MAXNI;
vector<int> a[MAXN];
void build(int k
alkl.clear();
_rep(i,leflkl,riglk
int t=query(b[i]+1)-1;
alk].push back(t);
add (t+1,1);

sort(alk].begin(),alk].end ;
_for(i,0,alk].size
add(alk|[1/+1,-1);

int main

int n=read _int(),blk sz=sqrt(n/2)+1,m=n/blk sz;
n%sblk sz)m++;

_rep(i,l,n)blil=read int();

~_for(i,0,m
lefli|=i*blk sz+1;
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rig/il=min((i+1)*blk sz,n);

_rep(j,lefiil,rig/i
blk id[j|=1i;
build(i);

int g=read_int();
q_-

int opt=read int(),x=read int

Opt::
bix|=read int();
build(blk id(x!);

int ans=b[x];

_rep(i,x+1,rig[blk id|x

ans>=b|i
ans++;

for(i,blk id[x|+1,m

5ns+:upper_bound alil.begin

enter(n-ans);
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,ans)-alil.begin();
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